EARAROBEEIERT — 2 N— IBISH —F

2018568240 (B) 1EIZXEE4H

mﬂa%sﬁ KBEF 4t (5T ER EEDE e
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 3 | EEEER 1:09.1 2-3 35.0| 86.4 | 7 452 | SAEE (EH)
1 7111V 54.0 (=) (10g) | BRI
L:O0—-Kp+a7 B:U=HF =tie)
o WA E7E :09. = . . FIFEX (EH
ol7l13l W/ 7= R 4 3 513.0 73 1(70?:; 4-3 34.9| 8.4 | 4 (4_2“2) Eﬁ%‘-ﬁ
LANT =TI BNAZyFIL—2 [okgse]
> = S 4 3 | EFNED 1:09.3 1-1 35.4| 84.3 | 12 432 | #AKER (ER)
31 7]14| *T>avA74Y% A51.0 (3/4) (+2) IARATE
L q hk—L B:RIVAY v IV FREW S
= =7 N ARBTG5 : - ==k e )
s+ s STY—ZT vy % 3 i 1(.30/%4 2-2 35.3| 83.2 | 10 ;1;2) Em%ﬁ
R:ZPOSTUE—> BHARILES 2 =& fEM
S = - JetiR— 1:09. -11 4. 2. 1 48 | HHRE— (EH)
5159 TTY>F—2F1 A (e ML R | 0w
A4 TAT v — BiI-Y Ua—2X SERS
i S, s 3 | FRER 1:09.6 8-8 35.1( 8.2 2 426 |HBEER (ERH)
) 6 [P 54.0 (172) © (B) EvJLyRI77—L
R:wyYgdyk B:d—ILKY—7 EvJiLy RT77—L4L
. . B3 | BHHBZ 1:09.6 5-5 35.2| 81.1 | 14 | 478 |DNEERNE (X&)
7N | By TENL 54.0 (7€) (46) | ) MEERT— T
R:27)—>e—A—- B:7Z&2LX4&Y BR=tt 71X
= o0 ft 3 | WBBER 1:09.7 5-5 35.3]80.1 | 3 466 | ZAEHN (FH)
8l1]|2|7F—brb=7 54.0 (7€) (ha) |EFEAK—LF (TR (1)
LT =TA2NT N BT IXRTAI H &K #EHS
« FR—1 :09. - . . NEEe (EH
90111 F4 rLA K (B] 4 3 252-0 1(;]9t)7 9-8 35.1| 80.1 1 (4_968) mEiE
X.A—-xI>JU>r BT T1RA HET77— L
- ft 3 | AEL 1:09.8 5-5 35.4| 79.1 | 5 456 | REEE (FH)
10510/ ¥V =Y 7 %53.0 1/2) (+4) | BABR
RIAY>TTIyva BRIV IETRUT FARHS
B = 3 | FFLa 1:10.0 14-15  [35.0| 77.1 | 13 | 426 |REME E&)
i} > PARE R % 753.0 ) (o | ) HAL-XE-2
R:/FrVX N BiTY%xZY335 HET7— L
3 = 4 3 | HEALA 1:10.1 12-12 [ 35.3| 76.0 | 15 444 | BFHLT (EH)
12 11| A bZI 54.0 (3/4) (+4) | FIERE
L:xrdn140— B:wU>TS5Zb WA
. 3 | HRse 1:10.2 9-8 35.6| 75.0 | 6 400 | REEf— (i)
13 3| Z7iarradF e A510 (1/2) © | ZTIAL=ZE=Z ()
R:O—KA+ra7 B:RKU—LFaxvy b R B AR
o= w3 | IERE 1:10.2 14-14 | 35.2| 75.0 | 8 464 | mE=MH (ER)
140 5| P77 L) 54.0 (NF) (o) | LB
RTVHA IR BiA—%LU—T NS
K N 4 3 | DIEEEER 1:10.3 12-12 35.5| 74.0 | 9 424 | BERBIME (FER)
15/8]16] * T a7 UARNY #53.0 (1/2) (cay | HABHFIE
T4 >T77yvoa BiFraA-N—Ta EEigve]
= B 3 | ZEEEA 1:10.3 16-16 [ 35.1| 74.0 | 16 | 394 |fEHH= (=)
16/ 8115 g)/a—->>4%> A51.0 NF) ) EARTERE
x> FhANAN B:EY 7Y HROUE D45
@ 71 L
) 46.7-35.2
NA>Z24 L | 12.0-10.4-11.5-11.5-11.7-12.0
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 14(7,8)13(2,6,10)12(1,3,9) (11,16) (4,5) 15
40—F+— 14,8(7,13) (2,6,10) (1,3,12)9(11,16)5,4,15
[ N3
B O 7 1,870M 714K 7-13 2,770 7 E 4-7 5,660 JEHE 7-13-14 198,360M
8 B 7 630M 7-14 12,520M B = 7-13 9,230M B 7-13-14 888,230
13 330M 13-14 6,190/ B H 7-13 20,5004
14 1,840

ABICOVWTRDTEEERROODE. TR LIV,




